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Section A (24 x 2 marks = 48 marks})
For each question from 1 to 24, four options are given. Ore of them is the comect

- answer. Blaka your choice (1, 2, 3 or 4). Shade the correct oval {1, 2, 3or4) on the
Optical Anawer Sheet provided. -

1. The diagram helow shows two living things.

potted plant rabbit

Wihich of the following statements about the two living thims are true?

A Botheangrow.
B Bothcanseproduce. -
C  Bothcamrespond lo changes.. - -
P Both can make their own food.
€1) Aand Bonly

2) CandDxonly
3) A Band G only
£ B,CandDonly .




2 Study e dassification chart below.

Living things
i R
can make &s own food cannot make s own food
| ’ i
noeflowesing flowetng car roove fram ' cannot move
: placafoplace |.| fromplaceto
' ' place
hid X T
Y .2z
Based on fhe chassiicatien chat ahove, which Jetter W, X, ¥ or Z hest
represents breag motid?
) w
@ X
B Y
@4 £

What should be do-to help the mouse to stay alive? -

{1) Givathemause some alr.

@) Putsome foad ivthe cage.

3) Addmore water in the ¢age.

{4) Placeafew more micein the cage-

2



4.  Jack measured the size of a tree trunk in his garden shown below.

length

{cm)

2M3 2014 2615 2016  year
What can he canclude ﬁ'omhis f&su&s‘?

{1} The tee has giovan. . .

2} The tee has reproduced.

{3} The ree has produced flowers.

{8) The &ree has responded to changes.




5  Sueobsewved the changes of a plantio her garden over a few years.

youngplant

Based only an the diagram abeve, which one of the following statements is not
frus?

(1) It is 2 Bowesing plah£
}  ltcanmeke its own food.

¢3) Itreproduces from spotes.’
¢4) It produces fruils when it hecomes an adult

6.  The diagram befow shows 2 plont growing around awoadén pele.

pait X

waooden pole
What is the function-of past X7 ’

(1) Tosupportihe stem
2) Tomake food forthe plant
) Toabserh water and minerals
(4} TYoholdthe leaves up sa that they can get sunfight



Study the: living things helow.

Three pupils AR, Ben and Cindy made the following siatements ahout the two
kving things shown above.

Al They can make their own food.
Ben:  Theybave wots, stems and leaves.
Cindy: They do nat produce flowers,

Which of the pupils have made the carrect statements?

{1} AliandiBenonly
{3) Alrand Cindy only
{3} Ben and Cindy ouly
4) Ali, Ben and €indy




8. Mary carried out an experitent using twe similar plants shown below. The
plant in set-up Y has s rools removed.

After two days, she recorded her cbservations in the table befow. -

“Setup | Amount of wates leftin the heaker {mi)
X - : 250 '

¥ ‘ 300

What does she want to find out from her experiment?

(1} Tofind outif roets take in wates.

3} To find outif leaves can make food.

(3} Yo fnd outif plonts need water ta-susvive:

4} Tofing outifthestemisa weak sfem or a stroig sterm.



Q..
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Max conducted aa experiment. He remaved only the leaves of a plant shown
helow. He watered the plant daily. '

After a week, he ebserved: that the plant had wilfed ane died.

Vihich of the following statement(s) best explain(s) why the plant dfied?

A The stesry did not have any support.
B Theplant was not able tomales food
G The plant was nat able to absorb water.

{1} Aonly
@ Bony

- 3} AandBonly

@} BandConly

Four pupils Alan, Bily, Colin and Daniel made some statements abeout some
anial groups.

Amphiblans and
fsh breathe
thsough thelr
gills.

Alan Billy Colin Daniel

Which one: of the following pupils has made a correct statement?

{1} Abkn
@} Bily
3 Colim
{4) Daniel




12,

Based on the fiow chart above, which letter A, B, Cor D best rep:ésents a
seal?

() A
2) B
@) ¢
4 0

The able helow shiows bow same animals can be grouped.

X Y
Hlapia orang-utan
pelican elephant
beefles bat
Which of the following are suitable headings for goup X and ¥?
X Y .
1) Canfy Cannot fly
{2) Layeggs ._Gives birth to the young
3) Live onland Live in water
(4) Have three hody parts Have two body parts




13."  Sandy placed foursimifar slices of bzeadA, B, €-and D Into four similar boxes

whick were at different femperatures. She obsesved the growth of bread
mould en the four slices of bread overaperiod of ime.

She recorded her observations i the table below.

e
- appear on the hread

A 8l 5 2

B 8mi Y 2

C ami . 20 7

B 8mi 30 { 4

Based on the table shove, how many days woutd it take far the bread mould
to appear on bread B?

(1) 4
@ &
() 9
4y 13 -




14, Jeremy recarded his ebservations of crganisrn P inthe b below.

t cannot make s own food.

it can bense&xlothamﬁx}bhum

It can only be seen under amicroscope.

Based on Jeremy's observations, which of the following best represents
organistw P?

A badcleria
B .mushroom
C  bracket fungi

(1} Acnly
(2) Conly
(3} AandBonly
¢4 Band Conly

45.  Study the classification chart below carefully.

Human body system
{
| | | i
Dwgestive Respisalory Circulalory | Skel
syskem | system system. systemn
| ] | |
small infestine ~ Jungs BHeood skl
stomach | windpipe blood vessel backbone
A B 14 D

Which of the following is best represented by letiers A, B, Cand B?

A B G ]
(1) | large intestine gullet rhcage muscles
) matth pose heart fibcage
{3) gullet mouth muscles large intestine
@y | anus " mouth nose ribcage



16. Which two systemswork together to defiver oxygen to all parts of the body?

Respiratory system
Circulatory system
Digestive system
Skeletal system

oOwW>

(1) AandBonly
(2 AandConly
(3) B and Donly
(4 CandDonly

17.. Ain placed four different materials J, K, L and M of the same size and
thickness into four beakers containing equal amounts of watey,

J

After ten minutes, the materials were laken out of the water and weighed. The
resufts are recorded in the table below.

Material | Mass at the start (g) | Mass after 10 minutes (g) |
J 10 18
K - 10 30
L 10 20
M 10 35

Which material J, K, L or M is most suitable for making a hath towel? -

m J

@ K
3 L
@ W™

11




48. Study the classification chart below.

Objects

R [ |
| 1 1 l

Group A Group GrovpC - Group D
cotton wool window pane ice-cream stick iron pin
cotton fowel spectacie lens salay stick metal nler

Based on the chart above, how were the objects grouped?

U] By their size -

) By their transparency

(3)  Byhowthey are used

(4) By the material they are made of

19.  The disgram below shows a fish tank.

fish tank

Which of the following properties should the matenial used for part Q of the
fishy tark have?

Flexible

Waterproof
Transparent

Able to float on water

C LR

(1) AandBonly
(2). Band Conly
(3) CandDonly
(4) A, Band Donly

12



20.

21.

{4) To find out which bag aliows light to pass through. -

Wendy canried out an experiment using four bags A, B, C and D made of
different materials. She put apples, one at a time, into each bag until it began
to tear. She recorded her observations in the table below.

Number of apples in the bag
before it began to tear
. 10 . .

7
13
5 ’

olo|u(>| §

Based on the tesulis in the table, what does she want to find out from her
experiment?

(1) To find out which bag is waterproof.
(2) To find cut which bag is the strongest. i
{3) To find out which bag is the most flexible. ’ '

Kasper tried to magnetise an iron nail with a magnet using the stroke method
in the divection shown below. After stroking the iron nail 15 times, the iron nail

attracted three steel pins.

=

iron nail

He repeated the experiment with another similar fron nail. What should he do
if he wants to attract more than three steel pins?

(1) Stroke the iron nail using the same pole less than 15 times.

(2) Stroke the iron nail using the same pole more than 15 tmes:

(3) Stroke the iron nail using the same pole 15 times at a faster speed.
(4) Stroke the iron nail using both poles of the magnet for 15 times each.

13

-




22. The diagram below shows a freely suspended magnet.

support

in which direction willa freely suspended magnet point?

(1) East-West direction
(2) South-East direction
(3) West-Nosth direction -
(4) North-South direction

23. Study the. pictures below. Which of the objects below is not a use of

slectromagnets?
- 2
maglev train
&) 3 4
stapler telephiong

14



Two bar magnets AB and CD can be amranged as shown below.

[ ol 5]

Which of the following arrangements of the magnets is not possible?

"
B A
c D
2
=1
fo cl|s
3
alp
BjC
@
p|B A |
c

End of Section A
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Section B (32 marks)
 For questic questions 25 to 34, wiite your answers in this booklet. The number of maxks
available is shown in the brackebe [ 1atthe end of each question or part question.

25. Jane set up an expesiment as shown below. She observed thatthe frult flies in
set-up B died afler two days while the fruit fiies in set-up A were still alive.

- metal cover ‘ metal cover

" food .

(3} What does Japewant to find out from this experiment? 4]

Jane conducted another experiment as shown below.

metal cover

container

ity

“set-up C set-up )

() In which set-upwilt the fruit fiy/flies five longer? Explain your answer, 73]




28. Viknesh boughtsome fruits as shown below.

{a) Classify the fruits by writing the letters A, B, G and D in the table below.

(b) Based onthe diagram above, state a difference-in the texture of the skin of

frut Band G.

One séed ~

Many seeds

i1

N}




27. The flow chart below shows the classification of four organisms A, B, C and
D. o

[ uwingtiogs |

Does it produce
fruits?

© (a) Basedonmeﬂmvdwanabove pulahck(f);nmebox&ebelowtoshowthe

characteristics that organisms c and D have. 121

Organisin Produce fruits Makes food Grow in water

C

D

{b) Based on the fiow chart above, state a difference between organism A and B. i




28. Study the roots of trees X and Y as shown below.

 a 1), 3
(a) During a storm, whtch'tree X or Y will more-Tkely be uprooted? Explain your
answer.

2

The diagram below shows some-tiny openings o a leaf using a microscope.

tiny openings

magnified view

(b) State the function of the tiny openings.

Look at the leaf shown below.

leaflets

(c) The leaiis observed to have its leaflets spread out without overlapping.
Explain how this ammangement of the leaflets help the plant to survive.

7.

i

m




(2) State one difference in the breathing method of animals R and S in the water, [1]

(b) State one simiitasity in the reproduction method of animals RandT. i1

The diagrém belo(v shoWs bird AL 1t feeds only on insect B. Farmer Suresh
killed many insect B because they were eating his crops., :

(c) After a few days, farmer Suresh obsesved that miany bird A alse died. Give a

reason for his observation.

4




30. The diagram below shows a fish.

PartA: -
/
(a) Label the parls ‘(_Jf.theﬁsh by wiiting in the boxes provided above. 1
- {b) State the function of part B of the fish. 11

The diagmm below shows a delphin.

{(c) Whnich animal group does the dolphin belong to? Give a reason for your
ANSWET. 2}




31.

(a)

)

Thé diagram below shows some fruits.

diied fruit ,.
Explain why the dried fruit will not become mouldy as easily as the fresh fruit. [

!

can take to prevent the fish from tuming bad quickly. Give an explanation for
“your answer. : .

Gary hought some fish from the market. Suggest one possible action Gary’

2]

Action:

Explanation:




32. The disgram below shows the human digestive system.

A
B: <
G D
(a) Inthe diagram above, lahel the parts B and C. 11
(b)- Putatick () in ihe table below to show whether digestion takes place a the
partsA, B, C andfor D. 11
Part Digestion takes place (~
A
B
C
3]
() State the difference in the substances absorbed by part C and part D. {13




a3,

@

)]

Jordan conducted an experiment to measure the amount of water absorbed
by four different materials A, B, C and D. The four strips were ofthe same

size and thickness. He dipped them info a container of water as shown
below.

ABCD string

ship

/
' /
= 3 %_3[—’ container of water )

Aflter ten minutes, he observed that the water had risen to different levels

along the four ships of materials as shown below. The shaded part on the
strips shows the absorption of water by the four strips of materials,

ABC D .

string
strip

container. of water

Based on the results shown above, amrange the materials A, B, Cand D

according to the amount of water it can absorb. 1
absorbs the absorbs the
,east water most water
The diagram below shows a mop.
patX

Based on the resulls above, which material A, B, C or D is most suitable for
making part X of the mop? Explain your answer. 2]




(@)

)

(c)

C))

. -Shawn-set up an electromagnet as shown below. Wi:o™ abject X is brought

neaf the iron nail, object X moved closer to the iron nail.

batteries
wire object X

ron nail S @

Shawn concluded that object X is a magnet but his fiiend said that object X

may notbe a magnet. Give a reason why. ]
What can Shawn's friend do to show that object X is a magnet? M

Shawn camied out another experiment by changing the number of batteries
attached to the electromagnet. He placed the electromagnet near some steel
pins and recorded his obsesvations in the tabla below.

Numbsr of batleries Number of steel pins attracted
2 A
3 6
4 8
5 : 10
Based on the results above, Btk {¥) to indicate If the slatement(s) is/are true -
in the table below. 1
Statements True
@ | When the numnber of batteries increase, the number of steel
pins atracted Increase.
() | When the number of batleries increase, the number of steel
pins aliracted decrease. .
(iii) | When the number of batteries increase, the number of steel
pins attracted remain the same.

Shavwm repliced the steel pins with copper pins. He observed that no copper
pins wese attracted by the elechomagnet. Give a regaon for his observation.  [1]

End of Booklet B
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Q25) -]  (a) She wants to find out if living things need air to survive.
- (b) The fruit fly in Set-up D will live longer. There is more air inset-up D
' for the fruit fly. Hence less competition for air.

Q26) - (a) One seed - A, C
Many seeds — B, D
(b) Fruit B has a smooth skin while fruit C has hairy skin.

Qz27) 3 drganism Produce fruits' Makes food Grow in water
C v v
D v ' Vv
(a)
(b) Organism A does not make its own food while organism B makes its
own food.
Q28) (a) Tree Y. Theroots of tree Y are shorter so the roots cannot hold the

tree firmly to the ground.
(b) The tiny openings allow the exchange of gases in its surroundings.
(c) The arrangement of the leaflets allows the plant to trap more sunlight
to make food.

Pg1l




Q29) (a) Animal R breathes through moist skin while Animal S breathes
through gills.

(b) Both animal R and T reproduce by laying eggs.

(c) Bird A did not have enough food to eat as insect B was its food.

Q30) (a) Part A: scales Part B : Fins

(b) Part B allows the fish to move in water by pushing it to move.

(c) Mammals. When the dolphin is young, it has hair at the tip of its
nose and when it gets older, they slowly drop off.

Q31) (a) The dried fruit is dry and mould need water to survive.
(b) Action : Put the fish in refrigerator
Explanation : To reduce warmth

Q32) . (a) B : stomach -C : small intestine
(b) TickBand C
(c) Part C absorbs the digested food while Part D absorbs water from

the undigested food.

Q33)- @A, Db B C
(b) C. C absorbs the most water so it can clean up the spillage on the
floor more efficiently.

Q34) - (a) Object X could be a magnetic material.

(b) Tumn Object X around to see if the other pole repels the iron nail.

(c) Tick option (i)

(d) Copper is a non-magnetic material so it will not be attracted by the
electromagnet.

Pg2




